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Question Id : 536228463 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)
Question Label : Comprehension
Consider the following table that shows the percentage (%) distribution of runs scored by an

Indian batsman against different countries in one-day internationals (ODI) and T 20 world
cup matches. Total runs scored by the Indian batsman in ODI and T20 are 2800 and 2000

respectively. Based on the data mn the table, answer the questions 1- 5:

Sub questions

Question Number : 1 Question Id : 536228464 Question Type : MCQ Option Shuffling : No Is

Countrywise Distribution of Runs :

Country Percent (%) of Runs Scored
0DI T20
Pakistan 10.50% 09.50%
England 11.00% 09.00%
Australia 17.50% 11.50%
South Africa 12.50% 16.50%
Sr1 Lanka 09.00% 12.50%
New Zealand | 12.00% 10.00%
West Indies 14.00% 18.00%
Others 13.50% 13.00%

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



If the batsman played 14 mnines against Sr1 Lanka in ODI and remained not out In
5 innings, then the average runs scored by the batsman against Sr1 Lanka are :

(H 28 (2 24
(3 26 4 22
Options :

5362281801. 1
5362281802. 2
5362281803. 3

5362281804. 4

Question Number : 2 Question Id : 536228465 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Total runs scored by the batsman against New Zealand in T20 matches are approximately

what percent (%) of the total runs scored agamnst Pakistan in ODI matches?

() 64% (2) 66%
(3 62% 4) 68%
Options :

5362281805. 1
5362281806. 2
5362281807. 3

5362281808. 4

Question Number : 3 Question Id : 536228466 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the case of which of the following countries, the difference between the runs scored by the

bateman in ODI and T20 is the second lowest?
(1)  SrLanka (2) Pakistan

(3)  South Africa (4) West Indies

Options :



5362281809. 1
5362281810. 2
5362281811. 3

5362281812. 4

Question Number : 4 Question Id : 536228467 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The runs scored by the batsman against West Indies in T20 are approximately what percent

(%) of the runs scored against Austraha in ODI?

1 71% 2) T5%
3 3% 4) 69%
Options :

5362281813. 1
5362281814. 2
5362281815. 3

5362281816. 4

Question Number : 5 Question Id : 536228468 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If the batsman had scored 280 runs against Pakistan in T20 matches, then what would have
been the percentage of runs scored by the batsman in the T20 matches against all other

countries (Assuming that the total runs scored by the batsman in T20 remains the same
(that 1s 2000))?

(1) 88% (2) 84%
(3 86% (4) 90%
Options :

5362281817. 1
5362281818. 2
5362281819. 3

5362281820. 4



Question Id : 536228463 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)

Question Label : Comprehension

e & 8 it W faEn W, g9 v Wi SeoE g O aEE dae (A S an) e d 20
fava 1 o1 § ffa= oo % fEers a9 @ F v (%) Hem o 2 ) ande seees g
ATEIATE AR F 20 T I W A T A T FA: 2800 v 2000 7 | A ¥ 2w W A F
AYR WA E, 19 5F T2 -

1 1 2997

e T T H T (%)
g | #20
PliETsIE 10.50% | 09.50%
B 11.00% | 09.00%
ST 17.50% | 11.50%
e b | 12.50% | 16.50%
ST 09.00% | 12.50%
TS 12.00% | 10.00%
I 14.00% | 18.00%
# 13.50% | 13.00%

Sub questions

Question Number : 1 Question Id : 536228464 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

3% ST 4 SGEE A A % fger 14 W el Sk 5 Wil § Ae-ame @, A s g

(1) 28 @2 24
3) 26 (4) 22

Options:

5362281801. 1
5362281802. 2
5362281803. 3
5362281804. 4



Question Number : 2 Question Id : 536228465 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
FeeAaTs g 3 20 4§ SIS % (G S0 W Fe W SIS 6§ OEE F gers s

T T F AN R T (%) 7

(1) 64% (2) 66%
(3 62% (4) 68%
Options :

5362281805. 1
5362281806. 2
5362281807. 3

5362281808. 4

Question Number : 3 Question Id : 536228466 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fiefefga & @ 779 30 % A A SeeErd R AT AR 2 20 § S T A AR T a6

AR
(1) 4w (2) R
(3) e arf 4) @
Options :

53622818009. 1
5362281810. 2
5362281811. 3

5362281812. 4

Question Number : 4 Question Id : 536228467 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
FeaTs g A1 20 T H RIS F GO A T A W= g Ao % e s

1 T T wfe (%) 77

L 7% 2) T5%
3 3% 4) 69%
Options :

5362281813. 1
5362281814. 2
5362281815. 3

5362281816. 4

Question Number : 5 Question Id : 536228468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T e A 7 20 7= § T % faes 280 W S 4, 91 96 g o w2 F faems A20
el H S M A e 7 (T8 WEG 50 T 2 20 39 aeeens g s 0 Fe W e
(3797 2000) T4 7) 7

(1) 88% (2) 84%
(3) 86% (4) 90%
Options:

5362281817. 1
5362281818. 2
5362281819. 3
5362281820. 4

Sub-Section Number : 2
Sub-Section Id : 53622820
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 536228469 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

For optimising learning outcomes which of the following factors have been 1dentified as most
effective 1n terms of research evidences in the global context?

(1) Home related factors
2
(

3)  Teacher related factors

School related factors

S

(4)  Supplementary technological devices related factors
Options :
5362281821. 1
5362281822. 2
5362281823. 3
5362281824. 4

Question Number : 6 Question Id : 536228469 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST Wi i P S % T Fefatad § 9 HA 8 Fh A 5ol § ag e g g
TATEE T A R Y

() 77 Helm

Q) e TEtE FwE

(3) T Taiua FF
Options :
5362281821. 1
5362281822. 2
5362281823. 3

5362281824. 4

Question Number : 7 Question Id : 536228470 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1= the hallmark of reflective teaching?

(1) Clear, organized and well structured content
(2) Personalized. interactive and high level of cognitive interchange
(3) Systematic, planned and quick question-answer session
(4) Logical. coherent and example based presentations
Options :

5362281825. 1
5362281826. 2
5362281827. 3

5362281828. 4

Question Number : 7 Question Id : 536228470 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
femoft foreroy <t fafore == #4127

(2) T, 19 FaaE 37 399 T TEETEE AREAE-TE

(3)  =mafem, giEifEa @R gd -3 1=

(4) AThF, TEHT AT 0T AT e
Options:
5362281825. 1
5362281826. 2
5362281827. 3

5362281828. 4

Question Number : 8 Question Id : 536228471 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of cognitive behaviours in the taxonomy of educational

objectives :

(A) EKnowledge

(B)  Application

(C)  Understanding
(D)  Analysis

(E)  Synthesis

Choose the correct answer from the options given below :

1) Q). ®). (). D)and E) (2 (D). (E). (A). (B) and (C)
(3)  (A4).(C).(B). (D) and (E) 4 (D). (E). A, (C) and (B)
Options :

5362281829. 1
5362281830. 2
5362281831. 3

5362281832. 4

Question Number : 8 Question Id : 536228471 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A& 32T F ATTHA F AAFCHF RN ® TEl FA T W

A IH

B) M
(C) ==Eem™
(D) v
(E) #vemm

(1)  (A). (B). (C). (D) =1 (E) (2) (D). (E). (A). (B) =T (C)

(3  (A).(0). (B). (D)3 (E) @) (D). (E), (A), (C) =i (B)



Options :

5362281829. 1
5362281830. 2
5362281831. 3

5362281832. 4

Question Number : 9 Question Id : 536228472 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In which scale of measurement. classification, order and equality of units are ensured?

() Ordinal (2) Nominal
(3)  Interval (4) Ratio
Options :

5362281833. 1
5362281834. 2
5362281835. 3

5362281836. 4

Question Number : 9 Question Id : 536228472 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e Wb 1 AT F TREAT B A, FH SR BEEAT gHtrEd B 2 e

(1)  wEF (2) ==
(3) A (4) I
Options:

5362281833. 1
5362281834. 2
5362281835. 3

5362281836. 4



Question Number : 10 Question Id : 536228473 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Gaven below are two statements :

Statement I: Computer based testing ensures high rehability and validity in the process of
evaluation centred on effective and conative domains of behaviour.

Statement II: Support materals in the form of programmed instructional models have a
tremendous potential to maximize learmng.

In the light of the above statements, choose the correct answer from the options given below:

(1)  Both Statement I and Statement II are true
(2 Both Statement I and Statement II are false
(
(

[

3

4)  Statement I 1s incorrect but Statement II 1s true

Statement I 1s correct but Statement II is false

S

Options:

5362281837. 1
5362281838. 2
5362281839. 3

5362281840. 4

Question Number : 10 Question Id : 536228473 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A g Fm g #

FF (1) SRR % WA A G A T R Je T § R AT e o

T (D) : AR ST TOAM & B7 ¥ TEEd G 3 A H w9
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() FF 1Tz g #H I Tem 7|
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Options :

5362281837. 1

5362281838. 2

5362281839. 3

5362281840. 4

Question Number : 11 Question Id : 536228474 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which argument may be advanced 1n support of action research in education?

(1)
(2)
(3)
4

The researcher breaks fresh ground in the field of enquiry.
The knowledge 1s applied to extend further generalization.
Some new principles are formulated for explaining the events.

The educational situation as well as the practitioner of education undergo a change
for the better.

Options :

5362281841. 1

5362281842. 2

5362281843. 3

5362281844. 4



Question Number : 11 Question Id : 536228474 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
forer ® Toramens wiig & @uY O Ffeiiad § ® 9 |91 99 291 o 5T 2 7

(1)  a%1 T 5 &9 4 9% GEEA G # |

(2) AT 0T 1 o R i § 374 0 HETZII'-‘SIT'T T 2 |
(3) =zl Fi v wA F e F9 90 fEg[ e A4 2 |
@ el fEufy o fen F AvaEEat § A o aiEd B R |
Options :
5362281841. 1
5362281842. 2
5362281843. 3

5362281844. 4

Question Number : 12 Question Id : 536228475 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The eritical difference between experimental and ex post facto research lies in terms of :
(1)  Selection of sample

(2) Causal connection between two variables

(3) Use of rezearch tools

(4)  Control and manipulation of independent variable
Options :

5362281845. 1

5362281846. 2

5362281847. 3

5362281848. 4

Question Number : 12 Question Id : 536228475 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FefeiEd § ¥ 560 2f2 & = 1R FEiea g o Seeayn 37 7an 2 7
(1)  wfiest & ==A
(2 3= F =3 FR-FHE TEY
(3) 79 I I
(4) T = g FEE e Aeae
Options :
5362281845. 1
5362281846. 2
5362281847. 3
5362281848. 4

Question Number : 13 Question Id : 536228476 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In establishing a research problem for a Ph.D level course, 1n the 1nitial stage which of the
following stages are crucial?

e

i

) Hypothesis making

) Locating a problem area from a field through survey of related literature

a B &=

(

) Defining the population of research and its characteristics

=

) Selecting a pointed 1ssue called a problem by a process of logical analysis

(E)  Defining and delimiting the problem

Choose the correct answer from the options given below :

(1)  (B). (D) and (E) only (2) (B).(C) and (D) only
(3)  (A). (B) and (C) only (4) (C). (D) and (E) only
Options :

5362281849. 1
5362281850. 2
5362281851. 3
5362281852. 4

Question Number : 13 Question Id : 536228476 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

EH, TR F TAEA F O g FeE i w A e 5w 8 fetted 1 9 56 w6 e
T TR A 7

(A) TR F E

(B)  Tefy Hifaca % Hauv % WIS W & T W S F (afad w

(C) T F TN A T e H i e

(E)  O#& i YA ST it e |

I 2 ™ fooem 1 1 w9 o g

()  #=4 (B), (D) % (E) (2 Fa (B). (C) 3k (D)
3)  F (A), (B) 3 (C) (4) Fa (C), (D) % (B)
Options :

5362281849. 1
5362281850. 2
5362281851. 3

5362281852. 4

Question Number : 14 Question Id : 536228477 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

From the following. 1dentify those which are called non-probabihity sampling procedures :

(A)  Systematic sampling
(B)  Quota sampling

(C)  Stratified sampling
(D)  Purposive sampling
(E)  Snowball sampling

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B).(C) and (D) only
(3)  (B). (D) and (E) only (4) (C). (D) and (E) only

Options :

5362281853. 1



5362281854. 2
5362281855. 3

5362281856. 4

Question Number : 14 Question Id : 536228477 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I —. b G 4 =g i [ i [ e T X
HEd 3 9 T-99T=3T] T4 29 Ia=aa T = 591 =#7

(A)  =EEdd TiEEe e
(B) A= wfaest gfa=m
(C) =AM iass uid=aa
(D)  HEE7E WS Wi

(E)  =m&re viase ufa==e

Hi= 52 = faedt 4 = wF 53 gfhv

(1)  F=4 (A), (B) 3 (O) 2) === (B), (C) ¥k (D)
(3) e (B). (D) #F (E) @) Faa (C). (D) 3 (E)
Options :

5362281853. 1
5362281854. 2
5362281855. 3
5362281856. 4

Question Number : 15 Question Id : 536228478 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements :

Statement I: The goal of mnquiry in fundamental research 1s directed at bringing an
mcrement 1n the fund of knowledge.

Statement II: Action research 1s a research by the practitioner. for the practitioner and of
the practitioner.

In the light of the above statements. choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement IT 15 false

(4)  Statement I is incorrect but Statement II 1s true

Options :

5362281857. 1
5362281858. 2
5362281859. 3
5362281860. 4

Question Number : 15 Question Id : 536228478 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TﬁH?'T e %Ffrﬂ%

Fo (I):  Hifers 9§ ST 1 35599 TA ° dfg FT Fa E |

Fe (ID) : ToFaTca® Mg ASITHHal gRT, SAATEHdT & o0 377 STCAEal & e 7 |

ST HYAT T ATEE R feT § F wEiae 3ugad 39 =
(1)  =wud IR [ 2F w2 7 |
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(4 w158 78 2 g Fe 8 2 |
Options :
5362281857. 1
5362281858. 2
5362281859. 3

5362281860. 4



Question Number : 16 Question Id : 536228479 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Announcement of arrival and departure of trains at raillway stations 1s :

(1) Spatial communication (2) Organisational communication
(3) Public communication (4) Sectional communication
Options :

5362281861. 1
5362281862. 2
5362281863. 3

5362281864. 4

Question Number : 16 Question Id : 536228479 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1) wofE Seem (2)  ETAATHE HUT
(3) A= JT (4)  FTIHEIE T
Options :

5362281861. 1
5362281862. 2
5362281863. 3

5362281864. 4

Question Number : 17 Question Id : 536228480 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Factors that contribute for effective classroom communication are :

(A) Information overload

(B) Use of unfamiliar words
(C) Balanced flow of words
(D) Circular flow of messages

(E) Mechanism to assess the feedback

Choose the most appropriate answer from the options given below :

(1) (A). (B). (C) only 2)  (B). (C). (D) only
(3)  (A). (D). (E) only 4 (C). (D). (E) only
Options :

5362281865. 1
5362281866. 2
5362281867. 3
5362281868. 4

Question Number : 17 Question Id : 536228480 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FefefEa & @ 19 @ FF ®a § 79w qugor § JeEE w3 7
(A) T A AaEa
(B) A=A Ieal H ST

(C) 92 =1 Hefetd T

(D)  H=30 T T TEE
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wd

S T T et B A e R

(1)  Fa4 (A), (B) 7 (C) (2) Fa4 (B), (C) 3R (D)
(3) &A= (A). (D) ¥ (E) @) === (C). (D) 3 (E)

Options :



5362281865. 1
5362281866. 2
5362281867. 3

5362281868. 4

Question Number : 18 Question Id : 536228481 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

StatementI: The content and style of communication are the predictor variables of
effective teaching.

Statement II : A good and communicative teacher evokes relatively less questions from the
students.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement II 15 false
(4)  Statement I 1s incorrect but Statement II 1s true

Options:

5362281869. 1
5362281870. 2
5362281871.3
5362281872. 4

Question Number : 18 Question Id : 536228481 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fm 3w T 7

FH (1) : =% =3 ST T G foreqs Terenior 1 51 | 9 Fid FH T d_r,'?‘f['u_r[ ELG| ?|

TOF FO T AAF T AT e § 6 T I 9

(1) A Lo I3 =2 2 |
2 FRIARIMZA ™a s |
(3) L5 & T e II7Tem 2|
@) w1 2 g o 97 2

Options :
5362281869. 1
5362281870. 2

5362281871.3

5362281872. 4

Question Number : 19 Question Id : 536228482 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Find out the correct sequence of the following transmissions :
(A) Narrowcasting

(B) Telegraph

(C) Broadcasting

(D) Telephone

(E) Podcasting

Choose the correct answer from the options given below :

(1) (A), (C). (B), (E), (D) (2) (B). (D), (C). (A), (E)
(3)  (C). (D). (E). (A). (B) @ (D). (E). (A). (B). (C)
Options :

5362281873. 1
5362281874. 2
5362281875. 3

5362281876. 4

Question Number : 19 Question Id : 536228482 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F=ferfiga doo = =5 #m 9

(A) e
(B) ZfommE
(C)  Fiswmean
D)  ZAEE

(E)  OiSehiezm

(1) (A). (C). (B), (E). (D) (2) (B). (D), (C). (A), (E)
(3) (C). (D). (E), (A). (B) (4) (D). (E). (A). (B). (C)
Options :

5362281873. 1
5362281874. 2
5362281875. 3

5362281876. 4

Question Number : 20 Question Id : 536228483 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List 1T

Last I List IT
(Examples of Communication) (Type of Communication)

(A) A company boss telephones his/her (I) Marketing communication
secretary for some help from outside.

(B) A company issues a circular of (II) Horizontal communication
cuidelines for 1ts employees.

(C) Employees discuss ecertamn 1ssues (III) Vertical communication
among themselves.

(D) A company sends a formal letter to1ts (IV) Informal commumecation
retailers and wholesalers.

Choose the correct answer from the options given below :

(1) AIV), (B)-D). (C)-dI). (D)-[@
@  (A-D. B)-ID). (C)-a1I). D)-IV)
(3)  (A)-ID. B)-(ID. (C)-IV), (D)-(ID)
(4 (A1), B)-AV), (C)-(D). (D)-(IL)

Options :

5362281877. 1

5362281878. 2

5362281879. 3

5362281880. 4

Question Number : 20 Question Id : 536228483 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



-1 1 G-I & Fufod $ifa -

eI =11
(T % 3R (T % TR

(A) TF FH FAE AEH TS TEEA F v (D) fagom w@yew
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1 Ui AT A 7
(C) =+l ¥ qg W ATE =l e 2| (IID) Fearar g

(D) wF FE AH G I 9 Fmeas B (V) e quem
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i T2 ™ e 9 @ wE R g
(1) (A)-IV), (B)-IID), (C)-(1), (D)-(I)
2 A-D. B)-1D, (O)-(1D), (D)-IV)
(3) (A)-(II), (B)-(ILI), (C)-(IV), (D)-(I)
4 (A)-IIID). B)-(IV), (C)-(I). (D)-(IL)

Options :

5362281877. 1
5362281878. 2
5362281879. 3

5362281880. 4

Question Number : 21 Question Id : 536228484 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements

Statement I: If an article 1s sold at a gain of 19%. then selling price 15 109% of cost price.
Statement IT: If an article 1s sold at a loss of 9%, then selling price 15 109% of cost price.

In the light of the above statements, choose the most appropriate answer from the options
o1ven below :

(1)  Both Statement I and Statement II are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I 1s correct but Statement II 1s incorrect

(4)  Statement I 1s incorrect but Statement II 1s correct
Options :
5362281881. 1
5362281882. 2

5362281883. 3

5362281884. 4

Question Number : 21 Question Id : 536228484 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR FAmmE:

Fo (I): Al F75 30 19 wiow @9 7 fawa i 7 2 9 fa 77, 9 979 #1109 v |

Fort (IT): fz #1% ag 9 vfawm 1 =17 W fage 1 % 2 @1 F o3, & 99 #1109 a9 2 |
FPIFA A S A iR e A 8w T O

(1) #FAIAIITEAR |

(2) e s Il 58 79 7

()  wR 1wz, by B e T R

@) w17 7 ¢ e T2
Options :

5362281881. 1



5362281882. 2
5362281883. 3

5362281884. 4

Question Number : 22 Question Id : 536228485 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find odd one out in from the following :

9,1, 12, 17, 18, 23

1 7 (2 12
(3) 17 4 19
Options :

5362281885. 1
5362281886. 2
5362281887. 3

5362281888. 4

Question Number : 22 Question Id : 536228485 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ffefigs 0 O 79 F1 I=E i

ach 12 3, 1935

(1) 7 2 12
(3) 17 4 19
Options :

5362281885. 1
5362281886. 2
5362281887. 3

5362281888. 4



Question Number : 23 Question Id : 536228486 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

At what angle the hands of a clock are inchined at 15 minutes past 57

1 1

1 58—° 4 ¢ ¥
() 5 5 (2) 5
1 1

(3 68—° 4) T2-°
) 5 (4) 5

Options :

5362281889. 1
5362281890. 2
5362281891. 3

5362281892. 4

Question Number : 23 Question Id : 536228486 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

594 # 15 fogz w =i 1 geat =i @1 =i et ¢

1 1
1 58—° 2y B67=°
(1) 2 5 (2) 5
1 1
3 68—° 4 T2-=°
(3) 5 (4) 2
Options :

53622818809. 1
5362281890. 2
5362281891. 3

5362281892. 4

Question Number : 24 Question Id : 536228487 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements :

Statement I: A number 1s divisible by 3, 1if the sum of 1ts digits 1s divisible by 3.
Statement IT: A number 1s divisible by 9. 1f the sum of its digits 1s not divisible by 9.

In the hight of the above statements, choose the most appropriate answer from the options
g1ven helow :

(I)  Both Statement I and Statement II are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I1s correct but Statement I 1s incorrect
(4)  Statement I1s incorrect but Statement II 1s correct
Options :
5362281893. 1
5362281894. 2
5362281895. 3

5362281896. 4

Question Number : 24 Question Id : 536228487 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fo ([): U Tl 3 | [99rsA 7, 902 I°HE 0 w0 AW 3 H A9 7

FoF (I1) : % T O & faura 2 af 355 =i = 9/ 9 & fwrsy 75 2
I9GFd FUAT o AT § (iiEd FeT 8 ° waitas IugEd 39 9

(1) W 3R I3E =2 |

(2) w13 I SF el 78 7 |

(3)  wuA 1@ 7, Thg #om I8 =6 7 |

4  =woA [=F 77 = T e w7 |
Options:

5362281893. 1



5362281894. 2
5362281895. 3

5362281896. 4

Question Number : 25 Question Id : 536228488 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The difference between the squares of two consecutive numbers 1s 3. The smaller number 1s

(1 14 (2 15
(3 16 4) 17
Options :

5362281897. 1
5362281898. 2
5362281899. 3

5362281900. 4

Question Number : 25 Question Id : 536228488 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

21 I Tl o a7 o did 1 T 35 7 | g T A B

@ 14 2 15
(3) 16 (4) 17
Options :

5362281897. 1
5362281898. 2
5362281899. 3
5362281900. 4

Question Number : 26 Question Id : 536228489 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the characteristics of the ‘middle term’ from the following :

(A) It must be present in the minor term

(B) It must be present in all positive instances in which the major term 1s present
(C)  Itisthe logical statement which is to be proved

(D) It must be absent 1n all negative instances in which major term 1s absent

(E) It 1s drawn from the preceding propositions

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (B). (C) and (D) only
(3)  (C), (D) and (E) only (4) (A), (B) and (D) only
Options:

5362281901. 1
5362281902. 2
5362281903. 3

5362281904. 4

Question Number : 26 Question Id : 536228489 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fefefaa 4 9 ‘aeg 2 A faufiearen = mm=m fif
(A)  TF U-TE § AEvES BT H U 5 00T
B) I A A THEAIHF U § ST BET A10E0 SE A1 UE I # |

[

(C) =7 o o7 =+ 7 T8 fiag frn s 2|

(D) 7= 3 T THEREF 2 0 SEIES T =10 FE 616 0g I F |

(B) 3= qaadi Tiasiid § o/ 71 2 |

(1) == (A), (B) #i (C) (2) ¥ (B), (C) 3R (D)
(3)  #aE (C). (D) = (E) (4) Fa (A). (B) ¥ (D)

Options :

5362281901. 1
5362281902. 2
5362281903. 3

5362281904. 4

Question Number : 27 Question Id : 536228490 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“‘Upanaya’ in Indian Nyaya Syllogism’ corresponds to which of the following in Amstotehian
Syllogism?

(1)  Major premise (2) Mimnor premise
(3)  Conclusion (4) Both major and minor premises
Options :

5362281905. 1
5362281906. 2
5362281907. 3
5362281908. 4



Question Number : 27 Question Id : 536228490 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT % = A § FEigd 8 U oA S a8 39 o SE

(1) =79 T (2) w& TS
@ (4) FF =TS TE A A
Options:

5362281905. 1
5362281906. 2
5362281907. 3

5362281908. 4

Question Number : 28 Question Id : 536228491 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“Fire 15 not warm because it 12 produced such as water”, 15 an example of which type of
fallacy?

(1)  Satpratipraksha (2) Badhit-vishaya
(3)  Virudha (4) Swaroopasidha
Options :

53622819009. 1
5362281910. 2
5362281911. 3

5362281912. 4

Question Number : 28 Question Id : 536228491 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1)  =aaE @) A

[

(3) T=Eg (4) ==4 mg



Options :

5362281909. 1
5362281910. 2
5362281911. 3

5362281912. 4

Question Number : 29 Question Id : 536228492 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Gaven below are two statements :

Statement [: Keval vyatireki form of inference 1s that when the mddle term 1s the
differentium of the minor term.

Statement IT: Kevalanvayi form of inference 1s that when the middle term 1s hoth
positively and negatively related to the major term.

In the light of the above statements, choose the correct answer from the options given below :

(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement IT 1s false
(4)  Statement I 1s incorrect but Statement II 1s true

Options :

5362281913. 1
5362281914. 2
5362281915. 3

5362281916. 4

Question Number : 29 Question Id : 536228492 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FH (I):  Faa A 9 79AF & B 051 w8, 1 9 F e 2|

Fi (I): el 9% ¥AF 7 90 991 92 G U9 T 3 w0 0 Wl 0§ gl
A

TR FOHI F A § AR e § H T I
() A IARIEA w7 |

@  F [ ¥k I 2H T # |

(3) FF 172 g TR 17 7 |

@) 1w 2 g = 0w 2

Options:

5362281913. 1

5362281914. 2

5362281915. 3

5362281916. 4

Question Number : 30 Question Id : 536228493 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The knowledge of the relation between name and an object denoted by that name 1s called :

(I)  verbal testimony (2) 1mplication
(3)  inference (4) comparison
Options :

5362281917. 1
5362281918. 2
5362281919. 3

5362281920. 4

Question Number : 30 Question Id : 536228493 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



919 UF T o S 6 @99 {7 B (98 T g Fiee e S m 2 sE e

(1)  I==-TE=m @) ffEad
(3) HIAT (4) g
Options :

5362281917. 1
5362281918. 2
5362281919. 3

5362281920. 4

Question Number : 31 Question Id : 536228494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ankur receives an email informing him that his credit card 1s going to be cancelled. The

email advises him to click on the provided link and sign into his online banking account to

prevent this from happening, which he does. A week later, Ankur notices that ¥ 10,000 has
been withdrawn from his bank account. What has Ankur fallen victim to?

(1)  Aphishing scam

(2)  ATrojan horse

(3)  Online blackmail

4 Avirus

Options :

5362281921. 1
5362281922. 2
5362281923. 3

5362281924. 4

Question Number : 31 Question Id : 536228494 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0
S 1 T 3l W B # (90 I q6E T 2 6 I He7 W g 6 A @R | I -6
g B 1 ol o 1 B B B e A - 1 el o el (ol o B B B
SRRV T W R | 9 30 [ H URH HA 2| O AE 92 S 96§ R S 8% @M ¥

10.000/- ¥/ i gt i et i 75 7 | 5 Feternad 7 | T A fww e e

(1) T =6
@ ZwEE

(3)  HTE
@ T

Options :

5362281921. 1
5362281922. 2
5362281923. 3
5362281924. 4

Question Number : 32 Question Id : 536228495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements :

Statement I: A company-wide network, closed to public access, which uses mnternet-type
technology 1s called World Wide Web.

Statement II: MODEM 1s a device that enables a computer to communicate over telephone
lines.

In the light of the above statements, choose the correct answer from the options given below :

(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement II 1s false
(4)  Statement I 13 incorrect but Statement II 1s true

Options :
5362281925. 1

5362281926. 2



5362281927. 3
5362281928. 4

Question Number : 32 Question Id : 536228495 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

F (II): A=A (MODEM) % f5ars 2 5 F79t Fil 7691 a5 W F(he 7 % o 7am
T 2 |

T FIHT F AAF A R e 8 F wE I
()  #m s Ia w2 |

@ FRIATIZ T 2 |

(3) w15 # g o I1 e 2 |

(4)  Tom [ ame ? T o a2

Options :

5362281925. 1

5362281926. 2

5362281927. 3

5362281928. 4

Question Number : 33 Question Id : 536228496 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :
Statement I: The value of hexadecimal number 21 1s 33 in decimal number system.
Statement IT: The value of binary number 1110 1s 14 in decimal number system.

In the light of the above statements, choose the correct answer from the options given below :

(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are falze

(3)  Statement I1s correct but Statement II 1s false
(4)  Statement I 1s incorrect but Statement II 1s true

Options:



5362281929. 1
5362281930. 2
5362281931. 3

5362281932. 4

Question Number : 33 Question Id : 536228496 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
F9H () :  TSE0HF (FRATSiane) T 21 1 9F 39 TEA Ut § 33 B 2

Fo ([D) : Tazmand s 1110 =1 9 299era T Torell § 14 76 # |

T FYA F AE ° e e 8 9 wE I o
(1) oA I A &2 7 |

(2 w1 2 7o & |

(3) FF 159 2 fohd T 1 7emd 2 |

(4)  FoF I3 2 fhg wom I 2|

Options :

5362281929. 1
5362281930. 2
5362281931. 3

5362281932. 4

Question Number : 34 Question Id : 536228497 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT :

List I
(Digital Imtiative)
(A) NAD

(B) SWAYAM PRABHA

(C) NDL

(D) SWAYAM

I) All-digital

(D

v

Last IT

(Objective)
Utihzation of satellite communication
technologies for transmission of

education e-contents through National
channels

hibrary  that  stores
information (metadata) about different
types of digital contents.

24x7 online store house of all
academic awards wviz. certificates,
degrees efe.

Offers various online courses for school
education and higher education.

Choose the correct answer from the options given below :

(1) (A, (B)-@), (C)-(II), D)-IV)
2 A, B)-0. (C)-II). D)-IV)
(3 (A1) B)-1v). (O-ID). @)-0
@) (A)-IV). B)-@. (©)-D. (D)D)
Options :

5362281933. 1

5362281934. 2

5362281935. 3

5362281936. 4

Question Number : 34 Question Id : 536228497 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



7 T T A

Gl T
(fsfeet weer) (z7)
(A) NAD @ T A W NEiE i-wer F
TR & U7 T T I
(B) SWAYAM PRABHA @) =it fefiem gosem @1 fafe mm
fsfms #oz % an A wrepdl (W)
(©) NDL (IIT) =t T F SFEF TEaH 7 Ffthe,
felt anfe %1 24x 7 i @7 =R EEE |
D) SWAYAM W) = Frem R 3= fem g fafee
HAATEH TETFR oA A 7 |

M) @1, B0, (-1, O)-1V)

2 @), B)-O). (C)-II). (D)-IV)
(3) (A, (B)-IV), (C)-I). (D)-I)
@ A)-IV). B)-0. (C)-ID. (D)-(III)

Options :

5362281933. 1
5362281934. 2
5362281935. 3
5362281936. 4

Question Number : 35 Question Id : 536228498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct order of following different types of storage/memory components in a
computer on the basis of price per bytes of storage from most expensive to least expensive :

(A) DDR4 RAM

(B) HDD

(C) 88D

(D) CPU Cache

Choose the correct answer from the options given below :

(1) (&), D). (C). B (2) (D). A).(C).®)
@) (4. ®). Q). D) 4 (D.@A).®).@©



Options :

5362281937. 1
5362281938. 2
5362281939. 3
5362281940. 4

Question Number : 35 Question Id : 536228498 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IS () F T A FE F oen W R Fegm Gt B e w2 A g
1 T T B S w % W #W e A

A) DDR4 RAM

B) HDD

C) SSD

D) CPU Cache

Mo

(
(
(
(

S e Pt

4!

A o3 1 fqe @ @ I g

D) @. D). Q. ®B) @ (D). @A).(C).®
(3) (&) (B).(C). D) (4) (D). (A).(B),(©C)

Options :

5362281937. 1
5362281938. 2
5362281939. 3

5362281940. 4

Question Number : 36 Question Id : 536228499 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are some metals which are released into environment from a variety of
anthropogenic sources. Identify the metals which have been of serious concern from the point
of view of pollution of water bodies

(A)  Aluminium

(B)  Copper

(C)  Mercury

(D) Cadmium

(E) Lead

Choose the most appropriate answer from the options given below :

(1)  (B). (C). (E) only (2) (A). (B), (C), (E) only

3  (C). D). (E) only 4) (A), (B). (E) only
Options :

5362281941. 1
5362281942. 2
5362281943. 3
5362281944. 4

Question Number : 36 Question Id : 536228499 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 F9 aqen F T T W A 5% o0 TER F AEEed @6 8 e § St e 9w g | =
TG 1 TEAH Il T FA F T F O W FH R A A E R

&) T

(B) T

(C) wm

(D) st

(E) s

(1)  #= (B). (C). (B) @) #=@ (A), B). (C). (B)
(3) Fae (C). (D). (B) (4) T (A), (B), ()
Options :

5362281941. 1
5362281942. 2
5362281943. 3
5362281944. 4



Question Number : 37 Question Id : 536228500 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(Given below are two statements :

Statement [ : Two sounds of same intensity but different frequency characteristics may

appear to be of different loudness.

Statement IT: The response of human ear to noise of different frequencies 1s not umform.

In the hight of the above statements, choose the most appropriate answer from the options

o1ven below :

(I)  Both Statement I and Statement II are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I 1s correct but Statement II 1s incorrect

(4)  Statement I 1s mcorrect but Statement II 1s correct

Options :

5362281945. 1
5362281946. 2
5362281947.3

5362281948. 4

Question Number : 37 Question Id : 536228500 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fﬁ?ﬁﬁﬂqﬁﬂﬂﬂﬁ:
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(1) #FF 13RI w82 |
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(49 FF 1w T ¢ g Fo L 2

Options :

5362281945. 1
5362281946. 2
5362281947.3

5362281948. 4

Question Number : 38 Question Id : 536228501 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A): Long term low emission development strategies by each country are

cruclial to realizing the goals of Paris Agreement.

Reason (R) : Nationally Determined Contributions (NDCs) declared by each country are
not sufficient to keep the rise in global temperature upto 2°C above the

pre-industrial level.

In the light of the above statements, choose the most appropriate answer from the options

oven helow :

(1)  Both (A) and (R) are correct and (R) 1s the correct explanation of (4)
(2)  Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3)  (A)1s correct but (R) 1s not correct
(4)  (A)1s not correct but (R) 1s correct
Options:
5362281949. 1
5362281950. 2
5362281951. 3
5362281952. 4

Question Number : 38 Question Id : 536228501 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A 3 FE M E T A A (A) o g W T R) T T

AFE (A):  TOF 3 W AE F I e ORI S e S F A &

T (R): T 39 g A WA w9 H e TeE (o 8 ) 3w e w gig @

T~ S T 2°C A 7 Hid wgd % o e 16
T A T A A R fen § F gai S o

(D (&) ¥ ®) 2 7 7 31 (R). (&) F = = 7 |
@ (&) R (R) 3 FEh E W (R), (A) FwE e @
@) (AT 2w ®) T T A

@ (AT 2T ®) W A
Options :
5362281949. 1
5362281950. 2
5362281951. 3

5362281952. 4

Question Number : 39 Question Id : 536228502 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence (decreasing order) of lifetimes of the following greenhouse
gases In atmosphere :

(A) Methane

(B)  Nitrous oxide

(C)  Surface ozone

(D) CFC-11

Choose the correct answer from the options given below :

(1) DM=®B=@A)=(C) 2 B=D)=A)=(@0)
@3 ®B=D)=0C)=@& @ @D=@B=0)=@A)

Options :



5362281953. 1
5362281954. 2
5362281955. 3

5362281956. 4

Question Number : 39 Question Id : 536228502 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TgHEe | FefeEd FFess 16 e & v FE (S ) i veEe fi
&) i

(B)  TEzH AEEE

()  Y-9g= A=A

(D) CFC-11

A To3 T faebel 9 9 @ g

(1)  D)=dB)=(A)=(C) 2 @B=D)=@)=(C

3) @B®=D=C)=©A) 4 @M=@B=(C)=@A)
Options :

5362281953. 1
5362281954. 2
5362281955. 3

5362281956. 4

Question Number : 40 Question Id : 536228503 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement [:  Hurricanes and typhoons are essentially the same as tropical cyclones.

Statement IT: Warm tropical oceans and molst awr mass are pre-requisites for the
development of tropical eyclones

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1)  Both Statement I and Statement II are correct

(2)  Both Statement I and Statement II are incorrect
(3)  Statement I 1s correct but Statement II 1s incorrect
(4)  Statement I 1s mcorrect but Statement II 1s correct

Options :

5362281957. 1
5362281958. 2
5362281959. 3

5362281960. 4

Question Number : 40 Question Id : 536228503 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Fof (I):  #fCH S 29 AT T G SUTHSH ST 9 T A

-
L

THTE FI F A A R R § 6 A waie S o e
(1) #E s w? |

@ F Lo I3 o T 7

@)  FF 17 E o L T

(4) w19 7 ¢ T e w2

Options :

5362281957. 1

5362281958. 2

5362281959. 3

5362281960. 4



Question Number : 41 Question Id : 536228504 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following modality of higher education 1s the example of evolution in the post
independence India?
(1)  Teacher Education
(2)  Technical Education
(3)  Legal Education
(4)  Distance Education

Options :

5362281961. 1

5362281962. 2

5362281963. 3

5362281964. 4

Question Number : 41 Question Id : 536228504 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

== Tore =it F=fafiaa 4§ 68 TR 1 339 SaA 9nd 3 57

(1)  Toea= e
(2)  dEATER TE
(3)  Tata= foram
(4) Ty e
Options :
5362281961. 1
5362281962. 2

5362281963. 3
5362281964. 4



Question Number : 42 Question Id : 536228505 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
The education 1mported through institutions of higher learning in India such as ‘Sanskrit
Vidyapith' is an example of
(1)  Non-conventional learming programmes
(2)  Value Education Programmes
(3)  Oriental learning Programmes

(4)  Professional education programmes

Options:

5362281965. 1
5362281966. 2
5362281967. 3
5362281968. 4

Question Number : 42 Question Id : 536228505 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
W & ‘wep s S v v denst & wem A A fa fef A 8
TR 27
(1)  ™-TuiTh AT FEEE
() 7FA S A FE
(3) WA o
(4)  =EEE M

Options :

5362281965. 1
5362281966. 2
5362281967. 3



5362281968. 4

Question Number : 43 Question Id : 536228506 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

List I gives stages of development
Match List I wath List IT

ListI
(Stage of development of values)
(A) Stagel
(B) Stagell
(C) Stagelll
(D) StagelV

of values while List II their outcomes

List IT
(Outcomes)
(I  Value collection through mvitation
(II) Inner evaluation
(ITIT) Value consohdation
(IV) Value clarification

Choose the correct answer from the options given below :

(1) (A)-ID), (B)-III), (C)-(D), D)-IV)
(2) A0, B)-ID). (C)-aV), (D)-(III)
3)  A-IV), B)-@). (C)-1II), (D)-1D
(4 A)I). B)-1V). (C)-aD, (D)-@)

Options :

5362281969. 1
5362281970. 2
5362281971. 3

5362281972. 4

:NolIs

Question Number : 43 Question Id : 536228506 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



wet.] 1 gL & gt e : gl 4 9 faem % 9o o # st gl § s g

fou U 2
Gl AL
(4) =l ([) T % 4R @ g FE
(B) = I (I) an g
(€) = (I 57 793
(D) =m IV (IV) 973 w1 T
Fra fo 7 oo @ 0 WA SO -

(1) A)-aD. B)-D). (C-[D, D)-IV)
2 A-D. B)-ID). (C)-AV). (D)-(III)
(@) @)-1v). B)-0). (C)-{1D. (D)-11)
@4 A)-I), B)-IV), (C)-D. D)-0)

Options:

5362281969. 1
5362281970. 2
5362281971.3
5362281972. 4

Question Number : 44 Question Id : 536228507 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements :

Statement I: The vice-chancellor of a University 1s an executive head who 1s vested with
administrative as well as academic responsibilities,

Statement IT: For a charismatic leadership attrbute 1n a vice chancellor both transactional
as well as transformational leadership competencies are needed.

In the light of the above statements, choose the correct answer from the options given below :
(1)  Both Statement [ and Statement II are true
(2)  Both Statement I and Statement II are false
(3)  Statement I 1s correct but Statement IT 1s false
(4)  Statement I 1s incorrect but Statement II 1s true
Options :
5362281973. 1
5362281974. 2
5362281975. 3

5362281976. 4

Question Number : 44 Question Id : 536228507 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
FRaFRfmmi.
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Options :

5362281973. 1

5362281974. 2



5362281975. 3

5362281976. 4

Question Number : 45 Question Id : 536228508 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
For enzuring effective administration which of the following 1s most difficult?

(1) Changing the knowledge of individuals and eroups
(2) Changing the zkill of individuals and groups

(3) Changing the attitude of individuals and groups
(4) Changing the behaviour of individuals and groups

Options :

5362281977. 1
5362281978. 2
5362281979. 3

5362281980. 4

Question Number : 45 Question Id : 536228508 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
T e GHvEd F 8 FefatEd T F5 o1 SEias Hied 7
(1)  =afFa 311 T9el % FH F1 9iatad #0
(4)  =afFl i @9a * =qaEn F uiEiad B

Options :

5362281977. 1

5362281978. 2

5362281979. 3

5362281980. 4



Sub-Section Number : 3
Sub-Section Id : 53622821

Question Shuffling Allowed : Yes

Question Id : 536228509 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the passage carefully and answer questions from 46 to 50.

Our hfe exists by constant interchange and replenishment. Every day. food 1s needed for the
body to survive. For our vital energies to thrive every day. vital nourishment 1s needed. For
our minds to be sharp and intelligent every day. an increase in knowledge 1s needed. But a
human does not live by nourishment of the mind, life energy and body alone, but also by the
nourishment that comes by the connection with our Divine source. This deeper nourishment
1s needed each day for our Inmost well-being. To connect to our deeper self and receive its
nourishment, our awareness needs to touch deeper than our mind, vital energy and body. A
mere mental awareness cannot touch this inner-most space. Our efforts too can take us only
up to a certain point. The true question 1s, how much do we really want to connect with the
divimty within us. If 1t 1s a sincere inner urge, then at some point. we realize that there 1s a
Presence that lives within us and carmes us forward. To recogmze this Presence when it
reveals 1tself to us. we can begin to know its nature. It exists quietly in the background.
often unnoticed by our surface self. When we are lost in the whirls of our mind. vital life-
energy and body. we lose our connection with this ‘presence’. When we remember and
sincerely seek to connect, sooner or later, the Presence’ makes 1itself felt.

Sub questions

Question Number : 46 Question Id : 536228510 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1z needed for the mind to be active?

(1)  Life energy (2) Nourishment for body
(3)  More knowledge (4) Constant replenishment of energy
Options :

5362281981. 1
5362281982. 2

5362281983. 3



5362281984. 4

Question Number : 47 Question Id : 536228511 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Our inmost well-being depends upon

(1) Sharper intellect (2) Nourishment of body and mind
(3)  Acceptance of life energies (4) Connect with supreme power
Options :

5362281985. 1
5362281986. 2
5362281987. 3

5362281988. 4

Question Number : 48 Question Id : 536228512 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

How can we realize the Divine Presence?

(1) By searching for the divine

(2) By recognising its presence within us

(3) By reaching the innermost space

(4) By making sincere efforts within one’s own self
Options :

5362281989. 1
5362281990. 2
5362281991. 3
5362281992. 4

Question Number : 49 Question Id : 536228513 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The Divine Presence 1n each individual can be found through

(1)  One's own realization of divinity (2) The wharls of our mind
(3)  The surface self (4) EKnowing the nature of agitated mind
Options :

5362281993. 1
5362281994. 2
5362281995. 3

5362281996. 4

Question Number : 50 Question Id : 536228514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The passage focusses on the

(1) Need for body replenishment

(2) Intellectual thoughts

(3 Importance of connect with the Divine Presence
(4) Vital hife energies

Options:

5362281997. 1
5362281998. 2
5362281999. 3

5362282000. 4

Question Id : 536228509 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 536228510 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1 - (2) TR = foru gEamn
(3) AT FH (4) F=1 FI gaq wegfa

Options :

5362281981. 1
5362281982. 2
5362281983. 3

5362281984. 4

Question Number : 47 Question Id : 536228511 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FHN HA=TaH A 36 T T A E

(1) e wfas (2) TR F9T T F FE0
(3)  FF FA F = (4) T T F WY HEG B
Options :

5362281985. 1
5362281986. 2
5362281987. 3

5362281988. 4

Question Number : 48 Question Id : 536228512 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

faeman =i sufeufa =1 =0 g TR O sy = Td 27

(1) T i @i g
(2)  FEN = G feufd i TEEE g
(3) FaT T W AR 9 F gl
(4) AW T F A e W w7 F g
Options :
5362281989. 1
5362281990. 2
5362281991. 3

5362281992. 4

Question Number : 49 Question Id : 536228513 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

P e | O R G e 1 1 e e e A et e e A

(1) =t gm o= & =7 999 3 (2) FAN W F A G
(3 W@ = gm (4) 3t T F T F A F G
Options:

5362281993. 1



5362281994. 2
5362281995. 3

5362281996. 4

Question Number : 50 Question Id : 536228514 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e Fetefiad § 9 39 o wi=d 2

(1) v = gegfd i sEvEsa W atfgs BEn W
(2) | ruq- EEiAler

(3)  To=g sultyfd =+ @y 59g 59 % 95cd W

(4) AT Fa T W
Options :
5362281997. 1
5362281998. 2
5362281999. 3

5362282000. 4
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Section type: Online
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Number of Questions : 92
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Section Marks : 200
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